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1. Write notes on any six of the following:

Candidates shall put a cross (X) on blank pages of
answer Script.

No blank page be left in between answer to various
questions.

No programmable calculator is allowed.

No stencil (With different markings) is allowed.
SECTION-A

(6x10=60)

Chloroplast

Auto radiography.

Polytene chromosome :

Recombinant DNA technology.

Polymerase chain reaction.

Photorespiration.

Vernalization.

Endangered plants

Describe the process of meiosis and its significance
(3x20=60)

Explain in detail the Nucleo some model of DNA
What is Aneuploidy? Describe the types of Aneuploidy.
Write an account of ascent of sap in plants.  (3%20=60)

Discuss the basic differences among tactic, tropic and
nastic movements in plants.

What is photophosphorylation? Give an account of cyclic
and non-cyclic photophosphorylation.
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Describe the types of structural changes in chromosome.
(3x20=60)

Explain the operon model for regulation of gene activity.

Describe the characteristics of Genetic code.
SECTION-B

(6x10=60)

Karyotype and Idiogram.

Xero sere

Shola vegetation

Alkaloids

Organic evolution.

Arena curvature test.

Photosynthetic pigments

Respiratory Quotient.

Define the term pollution. Write an essay on types of
pollution and its control methods. (3%x20=60)

What in male sterility? Describe the types of male sterility
in plants.

Describe the significance of biological Nitrogen Fixation.
Explain the wood and fiber yielding plants.  (3x20=60)

What is gene transfer? Explain Agrobacterium tumefaciens
mediated gene transfer.

What is pedigree analysis? How are pedigree charts used
in human genetics? Explain.
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